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1. 3784 + 4429 = 8213

2. 8233 - 5841 = 2392

3. 66 ÷ 7 = 9 r 3

4. 255 ÷ 5 = 51

5. 643 x 5 = 3215

Give me 5!
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In the last lesson, when we counted in hundredths, how did it 
sound?

How can we count in halves?

How can we count in quarters?
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How many sixths are equivalent to one whole?

How many sixths are in two wholes?
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What do you notice when 
you count in sixths?

Let's carry on counting in sixths... 

1
2
6 1

3
6 1

4
6 1

5
6 1

6
6, , , ,

Why do we never say 1 and 6/6? 
What should we say instead?
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Answers
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Challenge
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Challenge Answers
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